Quiz 5 (CS1573)

Suppose you wanted to learn a decision tree for predicting whether a Pitt student would stay in Pittsburgh during the summer or not. 

1. What are the classes to be predicted? 

Student will stay in Pittsburgh (Boolean).

2. Define the names and potential values of two attributes that you might use to learn such a tree. 

Some examples:

	Attribute
	Values

	Summer Term classes
	Yes/No

	Hometown is Pittsburgh
	Yes/No


3. Specify two training instances. 

	Summer Term classes
	Hometown is Pittsburgh
	Student will stay in Pittsburgh

	Yes
	No
	Yes

	No
	No
	No


4. Draw the initial root and branches of a tree that might be learned, and justify your answer.
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